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H £ 0l & AF & S

Al A

ot
nS=2s &
(FEXZSLEH) (SH &)
LA BRAE) - RN - BAS of v e HIDE2
9,484,026 8,646,227 837,79
Al 330,000
- 9,154,026
gt us=3st % 7,055,338 7,658,812 A603,474
Al 330,000
- 6,725,338
(FXESL3) 731,175 2,133,918 A1,402,743
et 292,728 281,651 1,077
Lot2 A 87,870 86,276 1,594
At2teld] 38,868 38,182 686
NUEHS U K HITHA AEIH Q]
753 2,000 %12 1,800
NS SN SHSAEF B
3,000& *6+7H* 123 1,512
NFEEXRAE JAT=HOZ N SEN S
80&*30024~12& 288
NFEXES U2 753 %2,0002 122 1,800
NFIISSTL B0t
8,200 *7m* * 12004 A 6,888
DARIEE LI IMH S AR & =S
70,0002 x5 *23] 700
NFEX(E AT=HORRS 24
70,0003 x0H 22|« 12 15,120
1)FIetEE ISy 4,320
2)ot= 80,0002 x0EH 1L 720
AEF= 100,0002 9 »1& 900
2)s=8 150,000 9+ 1& 1,350
2)gtst= 150,0003 x99 » 14 1,350
1)24A12F & & Eh=8t TS| 6,440
2)5t= 80,0002 x28H 1L 2,240
2)yets 150,000 x28H «1& 4,200
2 352484l 49,002 48,004 908
1) RS XA 1,19%
2)SEIH(aE) 57,0002 *5CH 285
S (EE) 60,0003 *1CH 60
2)ESEXHSEWY) 550,000 1CH 550
2)EEIHESZEW) 300,000« 1CH 300
NAsi B8 4,900
2)S8IH(aH) 500,000 *5CH 2,500
S (SE) 500,000 *1CH 500
2)SEXHSEW) 600,000 1CH 600
2)SEIHESEIW) 1,300,000 *1CH 1,300
N8 SUE B2
56,0002 «10CH* 12& 6,720




2A:

M HEE WSZs HF
Chel: Exipel(FXESES|H) (SHol: )
SA - B GR(31) - HIRAY - BES il &k e HlmS2
NEBE SHFHX DSAAE 2K 24|
400,000 12 4,800
Xt 100,000 »8CH* 12 9,600
1) Xt AtY| 219
2)SE(EE) 55,0002 *1CH*23 110
2)EEIH(AE) 54,0002 *1CH*13] 54
2)5BIHESE) 55,0002 *1CH*13] 55
NRFUH(EYR)
1,800 *1502| E4#4CH* 123 12,960
NSFU(LPG) 1,2003*1302| & x2CH » 12& 3,744
NRFUEER) 1,800 Q02| Ef+ 10H* 122 1,944
NEIIXNEERS 60,0002 = 1CH*12& 720
DARIEEHAIHB R S+H2ATHI=
55,000 *20E *23] 2,200
203 LR=&IH| 4,115 4,115
03 A=A ZXY| 4,115 4,115
NSYFEXES F00 243
153, 7503 *42| 615
DXL AT =AM O|2AS| 2t 3]
150,000 *103] 1,500
NEYEEN HSEE £Z
200,000& 103 2,000
204 MR AY| 14,700 14,700
03 EZg=ZHI 14,700 14,700
NSYFEXCE AIZFAES AN ol g
=l
50,000 x28H « 122 *(35A12+/40A1 2H) 14,700
303 Za= 8,640 8,640
01 Z&3 8,640 8,640
NEgEFEXES ZAZ
80,0003 x9H 12& 8,640
401 AlEHIZ 20| 120,000 160,000 240,000
01 Al&HI 120,000 160,000 A40,000
NEYFEXNHEE CCTV EX
40,000,000 *34! 120,000
405 RHeHE S| 57,403 57,403
01 ML =ZFSHI 57,403 57,403
NSY=EXEE Xt 204
57,403,000& 57,403
ez 2 274,570 324,3%4 N49,824
201 LEr2 | 247,920 297,744 N49,824
02 3244l 247,920 297,744 A49,824
NRERZ 230,400
2)ut 4303 +5,60021*12& 28,8%6
2)S2| 2,530&%6,40021x 122 194,304




2A:

M HEE WSZs HF
Chel: Exipel(FXESES|H) CERED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
2)28rL Xl 1002 +6,0004 122 7,200
DEIXLALIDEHE Z22IAIAE X244 17,520
2)2etoly3ate|AIAE
650,000& =123 7,800
2) LA AIAE 430,000+ 128 5,160
2)0CR = ol MI Al A&l 380,000& 123 4,560
203 ZR =& 1,000 1,000
03 A FRIHRFAIY| 1,000 1,000
NEHRSI ML DEHE D+ £2
100,000& *102] 1,000
303 L&tz 25,650 25,650
01 Z&3 25,650 25,650
NHEE MYUEE 34 ZAZ 25,650
2NXEE 175,000,000 * 1% 1,750
22X HEH S 85,000,0002 *3% 2,550
2)3xEE Ol 4 427,000,000 *5% 21,350
FREHS EX 08 2e| 68,932 60,298 8,634
203 LR =&H| 1,710 1,710 0
03 A Z=AIHRZXY| 1,710 1,710 0
DAZS2R8 HEES U 22gREr
171,000& 102! 1,710
301 LetEEZ 67,222 58,5838 8,634
10 A ERRJIELZ 67,222 58,583 8,634
naz 820,000& x5+ 122 49,200
1)=& (SAHI) 7,0003 x5H 222U 12F 9,240
N=g(nsSdl) 2, 7003 x5H 22U 12& 3,564
NEMSY ABIESRR(WEY])
2, 7003 x5H+222U « 12& 3,564
1Il=4l 330, 72021 x5+ 1Y 1,654
olgigl 24 94,945 1,461,575 21,366,630
801 ollg|d| 94,945 1,461,575 21,366,630
01 LBHoilgl] HA,945 1,461,575 21,366,630
1oyl A,945,000& HA,945
A0l HR(FAEELESIA) 235,200 235,200 0
ACIHS CHa 235,200 235,200 0
307 2I2+0l ™ 235,200 235,200 0
05 QIZtRES 235,200 235,200 0
1)OIFACIAT AoICH&Y| (XS Xt
60,000 x26021* 123 187,200
DEIAIAR HRIHH(MSZEE)
40,0002 10021+ 12& 48,000
FAE A (FREEESIA) 3,484,561 3,191,868 292,693
=AE A2 2,547,581 2,999,188 A451,607




SA: EXERID
3 AHME nSEs &
chel: FxIEEel(FRESEs) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
309 dE= 2,492,581 2,720,790 N228,209
01 SAL- SHEYTES 2,492,581 2,720,790 N228,209
NEA2EISE =X 22l 2,492,581
2)elei2 ] 1,576,599,000& 1,576,599
2)2& 3 915,982,000 915,982
404 SANBHIAI=HES 55,000 278,398 N223,38
01 BAl- SEHIH=HES 55,000 278,398 N223,38
NEA22ISE =X 22l 55,000
2)==E X S 55,000,000 55,000
SAF=IE 2 116,680 116,680
101 @12A4H| 12,600 12,600
04 JIZtNZ22 NS+ 12,600 12,600
NREFIE ZAR 212
140,000& x30 +3H 12,600
402 2I2FX=201H 30,000 30,000
02 QI EASEX(0IETHR) 30,000 30,000
NEEFE LAY AIENEHIEE
30,000,000& 30,000
802 grat=JIE 74,080 74,080
03 VIEtEtE S S 74,080 74,080
NREFIY WA =X Brea
64,960,000 64,960
NAELE FIUHE FIHg Bz
9,120,000& 9.120
SSEFAE 2 820,300 76,000 744,300
201 er2 3| 80,300 76,000 4,300
01 At2tlt] 80,300 76,000 4,300
Nele+s BLEFNE EXNMNEE
5,500,000& 42| 22,000
NdEL SSFUHE U 2RN UE2
9,500,000& 9,500
N+=R28 SLYFUHE U =214 HRE=
3,800,000 3,800
NROISNSZE SSFUHE U =2]/X U=
= 40,000,000& 40,000
NEXSSAIE 224 5,000,000& 5,000
401 Al HIZL S 0HHI 740,000 0 740,000
01 AlZ8| 740,000 0 740,000
N3 SSEFINE W IR KLY
740,000,000 740,000
FEDL =X WH (FRESESA) 2,604,402 2,097,826 506,576
Al 330,000
- 2,274,402
=SMEX0E & 664,002 664,002 0




SA: EXERID
3 AME nSEs &
ohel: Fet)} EXE JHA(EXESES) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 330,000
T 334,002
201 er23| 15,100 15,100
01 At2teltl 15,100 15,100
NE2s M 2,500,000 #23 5,000
el M 1,250,000 <22 2,500
NEEH A28 400,000 *42] 1,600
NEFeIsE2eld At
50,0002 x10&12& 6,000
203 HR=H| 2,500 2,500
03 A=A RN 2,500 2,500
NI mZAMY qRFH 2,500,000& 2,500
303 Z&=s 3,000 3,000
01 o= 3,000 3,000
Nesad SFLHE Zo3
3,000,000& 3,000
401 A2 HIRL 201 543,402 543,402 0
Al 270,000
T 273,402
01 Al&H| 540,000 540,000 0
NEEASII A 9,000,000& *507H 2= 450,000
Al 270,000
- 180,000
NEEASI| gHE &1
1,000, 0002 500K 2= 50,000
NE&S2I RAES
2,000,000 *200H 2= 40,000
03 Al 2 CHHI 3,402 3,402 0
1SARZE 20Z| 3,402,000& 3,402
402 2IZtA=01d 100,000 100,000 0
Al 60,000
- 40,000
02 QIENZAEEZ(0IE TR 100,000 100,000 0
NOHE =Xt Ex3 X
50,000,000 *2IH 2 100,000
Al 60,000
- 40,000
SRS SEFIY 22 92,400 70,000 22,400
802 grat= DI E 92,400 70,000 22,400
03 JIEtEtE =SS 92,400 70,000 22,400
NEX2l= 2 7,700,000& 12& 92,400
SN A2 1,000,000 300,000 700,000
401 Al HIZ S OHbI 1,000,000 300,000 700,000
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SA =R
B sE2oAY|
crel: ol 2ol (RRESEs|) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2= 60,0002 x28H « 12 20,160
R=nijei ==
48,550,000 #6128 *(35A1 2 /40A1 2H)*1.017
72,582
2SR E 138,300 x28&H « 122 46,469
2)Z UG A 140,000 x28EH « 12& 47,040
2)AItE ]
1,800,0002*0.84%0.86+1/30%1/7+91 Al 2«28
16,778
EW2R+E
9,320 x30A| 2+28E * 12 93,946
)28 = 848,142,981 5. 4% 45,800
NEYFENHE LIH(0E) EX3
10,000,000 10,000
204 ARt AH| 45,570 42,630 2,940
02 Mg 22| 45,570 42,630 2,940
AIRHIE R IHI(0F=)
165,0002 *(35A1 2H/40AI 2t ) 28« 12 45,570
Jl23HI(=XESE3IA) 26,750 11,620 15,130
Jl23HI(Ft2el ) 26,750 11,620 15,130
201 et 3| 13,840 5,140 8,700
01 At22t2l] 13,840 5,140 8,700
NAISESH] 10,0002 *55& *43] 2,200
NSADI |2t 100,000& »2LH*42] 800
NTA FX|2te) 100, 000& »2CH*23] 400
=& EHIIERIX
250,000 x35+43] 3,000
1NS&0| ESIELX
300,000 x4 E5+43] 4,800
1S AZXI (M) 20,0002 x8&f K+ 12 1,920
1)24A =X S2AE
60,0003 x22=+63] 720
202 04| 6,480 6,480
01 =LHOHI 6.480 6.480
NEOIADEN OfH|(EHT SEE)
20,0003 x93« 12& 6.480
405 AHaHE = 6,430 0 6,430
01 It =S F = 6,430 0 6,430
NZAZEH S80I 6,430,000& 6,430
Weas(FIr2et) 1,399,793 0 1,399,793
BEIS(=UHESES) 1,399,793 0 1,399,793
SEMEEED IS s 1,399,793 0 1,399,793
04 s = 1,399,793 0 1,399,793
01 OIEt=2 1,399,793 0 1,399,793




M =Xttt
M HRs(FItzeln)
Eel: 2XE(FUHESLERA)
S - B - SRA(SIH) - HSAY - BYS of et o

1,399,793,000& 1,399,793




